HoMEWORK #7 | Ece2ols
SOLUTLOWS SPRe ol
) Se solkion Yo k. 6.1, Rl Low.

12) St b o poh. 6:ly Spuna 1933,
7—'@ a.i,) (L S:ldnm Yy gWW!

X(Im1— Y nl= IX u+e]+6 X m] +2 X, (m-21
Xe [T —> Yo(m] = 2X, [(mr2] + 6 X, (w] « 2% Cu-2]
C X T+ CoXpIul —> Vo[l = 2 (¢, X, Tue2] +
€& Xy [ue2] ) + G (e, X, Calr ¢, 0, [T +
+2(¢ X [m-27+ & X, DA-Z]) =
¢ (2% 427 + 6 X LaT « 2%, On-27) +
“Cy (IXy [mt2]+ 6 Xy [uT +.2 X, (u-21) =
= CYim] + & Yol@],
i) The Yot is g - (woniout by
XIM-UT —> ZX [meg Mo] + 6 XTM-1sT +

*2x(M-g mols Yin-uo].



W) Ty Yt A5 aot Qausal becouse.
}/CM] d.tfgadl’ om X [wmel].
b) Arml: 20[mes] + 6O CuT + 26 Cu -2]

= 614 CoS(24)

C) H(é) o Since the phase is zero, there
is no need to plot the phase:

! ! H(®)|= H(®)
| .
. : , :
3 = : &
. - ]

T -T2 /. %

2 1 o

d)  H):w  H(osw)= 2 = #(osm)
10 —> H/lo) 10 = (00
T - —.an, — AA i CTC
10 cosf‘—’z-.(;»t:-l)] = 5@I 6dz+56J2,6—- L
. - . " '-E[__' ._g:_

S A T
= (oI (c/’J'&eszMz



= 20 CoS EZTCMH)]
Yitud = lo0- 2o @08 [T (w-07

H4) ad) T Yot s ot Busan becon @ :

XEM.-I — )(Eﬂj = (XCM‘HJBS
cxful — Yi0ud = (¢ xomad)’=
< Cg (Xf%ﬂj)s = cgy['uj %@)/CM.]_

'Li) Tl 5;15'@1» (f frmn - (Woriout é){,cauﬁ :

XCu-wo] = ?‘, tm] = (X EM-M0+1]>3=
= ?{[—M—-Mo]‘
Ll;‘,) e f(‘jm AS A_A:'J__‘T Caun. 5ol l:»ecaufe.,}/f“f]

oepeudls ow  XCm+1].

. . 3
L) Y, a3 < (e\,o.cszc eﬂjo.e‘ur«:,() :

i 87w 2T U 0.6unn
C +

- [ T an

A



Note Hat 18T > T | 40 @

C‘lj L8 T V(18T -2m)an _joLrm
- e - 6
LT,

Simﬂﬂ% ! GU _ e\J 0.2

Sot Yi[ul = Zeos (021w ) < 6o (0.6Tm )

;z‘S) (1) 2\{[’“] = (’)_E_Mj —d(’)EM-tj
( b(q dx&‘mhb%) o lubulse ’ZLS‘/JW.Q A e
systow.' s output aslaa He tuput s O0nT ).
T the difference ecé»w:ﬁ'fm) se¥ x(u)= S[n’]

(b) Use numerrcal convolution

B 4+

| s« w=*¥ =% o

{—-OL

X* o> ex;
! :L“ o o> -t — x5
T’E"ro O 0 —x5

“Thos, L= vl — x5 6n-5)

(Cﬁ'l_n FM+ (w) L_='-5) so we SuSFec;l- Hat

Rinl= W] -t S[n-1]



7.5 (e>In FM+ () L=5 so we SuSFec;l- Hat @
Riw)= §w] —x-Sr-L] -
Here is a cjév\w-Q devivotion.®

) ®h, W = ( SI0)-xSln- 1) #(KMuin) - «"uln-L])
= S % «"ulw) ~ oS- ¥ oMu[n) - L LSuln-b] + §[n-1]xo"un-]

~ " ul~ X" uln-] = "un-L] oo un-1-1)

) NoTE
S (L Il DR S g i ) [ dmeanxt=xlo-)
=&§(n) SULEY

= oM - o &n-m
whew h=L-

= §{n] -« Sn-L)

d) Tl (mpule azshou se %ZW ovnal) §y St (s
frwd - 9wl - & Jm-L]
Sor YEul = x[ul ol xm-t1
£) Tho s wo fucte vl of L Auck et
y[u] = xCu] b oL >0 Howrner | of o <1
o o= 0 as L=> <00, Ao yIudl=XCu]
i L=+x, i byCul= o/ ulnl.



%6) o) b (&) = I—er
L) H2(60=I+6J+e

Kiwl= Ein) - Sha-5]
T‘Ae.re;-ﬁ:'re, Hae_ ﬁEH‘G/\. wc-FFic_ie-vx}rs o~ ibk’zl "%‘,0,0,0,0}-*1%

= 7'((‘1\’)‘:#?{)&6-‘)&: J“é‘}ts

V2w __‘363 Ry
E +€ +(9J

d) U (H, &)= |« 3%, &3, ejgcj e‘:f”

-3 A o2 205

.?(3 __;363 _,463
= J-Pe) eJ —[—6J )
4% _J.2w _jpo 4 6o
-Cc — J V5w
c’ —e¥ oV
56
=l-e e Y (4,



b _
) hcwT s T «9 m-i] «3 dCn-2] — & (4]

(@‘f, 7.5, a)_

C) I 2 3 o0 -l
[ B
1 9 3 0 -l
4 -9 -3 0 |
' 9 3 0 I
2 -1 2 1 =l




l 2 3 o -
[ l
9 -2 <
3 -3 3
o 0 ©
- =
L2 -1 2 1 =l

Souwe ay m ().

74) o) (Y= (14083 )(! //Q
T A

L J e_j&) _'JO?M)

- 24 136
= 1 +08e’ <& < 0.8

VEM_]: X[(m] + 0.8 XCu—1] + X[m-2]+
+ 0.8 x[m-3]

1:)) ,6 (] = @)_L:u]-{-O.C?G)—L:M-"J-?df:‘“QJ’*
+ 0.8 qu—gl



@
°) K reeas X 63&)“, Haw yr1=X, H(uﬁ)ﬁjfm
o Y(w]=0 ,{;{? H(é)=o. me@e/{‘mo&

ﬁ%“’“ Qaf H(ﬁ) (@jm t'M e (3)) H(@;): O
mou, !

,__'IT: 63 /A T
| - e 92 —(0+ X L
c -t = [-8 -0 @&aﬂ‘_?l_/f_
- TC A . /A
ﬂ“ejg*w vJ(w.—E‘) A —
c =1l -c o =>cw= X

TTn-37 —> L[u-3]= du-37 « 0.9 ¢ [u- 47+
+ JI:M-‘S] + 0.8 éAC“"GJ

10.Swm NXST
CJ s H(';I)e‘) “M_____O_

So YIm] = (0.8 + JEM—gj.;. 0.8 Jf«-z,] +
+ d(m-5] +0.&Jm-6].



